#### PROPOSAL TO BE EXECUTED BY A CORPORATION

The undersigned, hereby acknowledges having received Specification No. 1267955 containing a full set of Contract Documents, including, but not limited to, 1) Instructions to Bidders (Proposers), 2) General Conditions, 3) Special Conditions, 4) Contract Plans or Drawings (if applicable), 5) Detailed Specifications or Scope of Services, Evaluation/Selection Criteria and Submittal Requirements (if RFP/RFQ), 6) Proposal Pages, 7) Certifications and 8) Addenda Nos. (none unless indicated here) , and affirms that the corporation shall be bound by all the terms and conditions contained in the Contract Documents, regardless of whether a complete set thereof is attached to this proposal, except only to the extent that the corporation has taken express written exception thereto in the sections of this specification designated for that purpose.

Under penalty of perjury, the undersigned: (1) warrants that he/she was authorized to submit an EDS on behalf of the Disclosing Party on-line; (2) warrants that all certifications and statements contained in the EDS are true, accurate and complete as of the date the EDS was submitted on-line; and (3) further warrants that, as of the date of submission of this proposal or bid, there have been no changes in Circumstances since the date that the EDS was submitted that would render any certification in the EDS false, inaccurate or incomplete.

Further, the undersigned being duly sworn deposes and says on oath that no disclosures or ownership interests have been withheld and the information provided therein to the best of its knowledge is current and the undersigned has not entered into any agreement with any other bidder (proposer) or prospective bidder (proposal) or with any other person, firm or corporation relating to the price named in this proposal or any other proposal, nor any agreement or arrangement under which any act or omission in restraint of freedom of competition among bidders (proposers) and has not disclosed to any person, firm of corporation the terms of this bid (proposal) or the price named herein.

Proposals must be submitted with original signatures in the space provided. Proposals not properly signed will be rejected.

(Print or Tv6

SIGNATURE OF PRESIDENT\*:

(Or Authorized Officer)

TITLE OF SIGNATORY: Mark Atkins, Jr., President

(Print or Type)

(Signature)

BUSINESS ADDRESS: 3349 S. Kedzie Ave, Chicago IL 60623

(Print or Type)

\*Note: In the event that this bid (proposal) is signed by other than the President, attach hereto a certified copy of that section of Corporate By-Laws or other authorization, such as a resolution by the Board of Directors, which permits the person to sign the offer-for the Corporation.

ATTEST:

(Corporate Secretary Signature) (Affix Corporate Seal)

Tim Strepek

State of: <u>ILLINOIS</u> County of: <u>COOK</u>

This instrument was acknowledged before me on this <u>13</u> day of <u>JANUARY</u>, 2025 by <u>Mark Atkins, Jr.</u> as President (or other authorized officer) and <u>Tim Strepek</u> as Secretary of <u>Benchmark Construction Co., Inc.</u> (Corporation Name).

(Notary Public Signature) (Seal)

Commission Expires: February 24, 2027

MOLLY K. FRANCESCONI
OFFICIAL SEAL
Notary Public, State of Illinois
My Commission Expires
February 24, 2027

#### 2 Price Schedule

#### 2.1 Line Information

Display Rank As Ranking Ranking Price Only
Cost Factors None
Response Total (USD) 9,688,000.00

#### Retainage

Retainage Attributes	Negotiable
Maximum Retainage Amount	No
Retainage Rate (%)	No

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
1 ENGINEER'S FIELD OFFICE		11	Month	3,000	33,000.00
2 MOBILIZATION		1	Lump Sum	579,183.95	579,183.95
3 PROJECT SIGNS		4	Each	600	2,400.00
4 TRAFFIC CONTROL AND PROTECTION		246	Day	175	43,050.00
5 CHANGEABLE MESSAGE SIGN		21	Day	50	1,050.00
6 MAINTAIN EXISTING LIGHTING SYSTEM		1	Lump Sum	89,951	89,951.00
7 TEMPORARY PAVEMENT MARKING - LINE 4"		1,229	Foot	1.35	1,659.15
8 PAVEMENT MARKING REMOVAL		89	Square Foot	47	4,183.00
9 TEMPORARY CONCRETE BARRIER		90	Foot	44	3,960.00
10 RELOCATE TEMPORARY CONCRETE BARRIER		90	Foot	27	2,430.00
11 IMPACT ATTENUATORS, TEMPORARY (FULLY REDIRECTIVE, NARROW), TEST LEVEL 2		1	Each	8,200	8,200.00
12 IMPACT ATTENUATORS, RELOCATE (FULLY REDIRECTIVE, NARROW), TEST LEVEL 2		1	Each	3,000	3,000.00
13 DUCTILE IRON PIPE SEWER, 42- INCH INTERNAL DIAMETER, CLASS		10	Linear Foot	1,700	17,000.00

**Specification Number: 1267955** 

**Type of Funding: CITY** 

Title: 1267955: Parnell North of West Pershing Road Sewer Improvement Project

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
52, IN OPEN CUT		Qualitity		11100	
14 REINFORCED		2,567	Linear	1,992	5,113,464.00
CONCRETE PIPE		2,307	Foot	1,552	3,113,101.00
SEWER, 72-			1 001		
INTERNAL					
DIAMETER, CLASS					
III, IN OPEN CUT					
		1	To als	16,000	16,000,00
15 REINFORCED		1	Each	16,000	16,000.00
CONCRETE PIPE					
SEWER, TEE 72"x42".	·				
CLASS III, IN OPEN					
CUT		772	т.	7.5	57.075.00
16 6-INCH DRAIN		773	Linear	75	57,975.00
CONNECTION,			Foot		
VITRIFIED CLAY					
PIPE				1.20	1.00
17 8-INCH DRAIN		61	Linear	229	13,969.00
CONNECTION,			Foot		
VITRIFIED CLAY					
PIPE					
18 10-INCH DRAIN		16	Linear	327	5,232.00
CONNECTION,			Foot		
VITRIFIED CLAY					
PIPE					
19 12-INCH DRAIN		10	Linear	670	6,700.00
CONNECTION,			Foot		
VITRIFIED CLAY					
PIPE					
20 24-INCH DRAIN		12	Linear	920	11,040.00
CONNECTION,			Foot		
VITRIFIED CLAY					
PIPE					
21 6-INCH DRAIN		840	Linear	265	222,600.00
CONNECTION,			Foot		
DUCTILE IRON PIPE					
22 8-INCH DRAIN		212	Linear	240	50,880.00
CONNECTION,		-1.2	Foot	2.0	30,000.00
DUCTILE IRON PIPE			1000		
23 24-INCH DRAIN		18	Linear	800	14,400.00
CONNECTION,		10	Foot		17,700.00
DUCTILE IRON PIPE			1 001		
24 42-INCH DRAIN		36	Linear	958	34,488.00
CONNECTION,		30	Foot	950	J <del>1,1</del> 00.00
DUCTILE IRON PIPE			Tool		
		11	Linas	620	6.020.00
25 24-INCH DRAIN		11	Linear	630	6,930.00
CONNECTION,			Foot		
REINFORCED					
CONCRETE PIPE		10	T :	(24	12.046.00
26 42-INCH DRAIN		19	Linear	634	12,046.00
CONNECTION,			Foot		
REINFORCED					
CONCRETE PIPE		_	- ·	22.770	110.070.00
27 MANHOLES,		5	Each	22,570	112,850.00
TYPE A, RCP BASE					
TEE, 4'-DIAMETER				1	1.5
28 MANHOLES,		1	Each	48,401	48,401.00
TYPE C, SINGLE					

**Specification Number: 1267955** 

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
DROP					
29 JUNCTION STRUCTURE AT S PARNELL AV AND W 35TH ST		1	Lump Sum	310,345	310,345.00
30 PARTIAL REMOVAL OF UNDERGROUND STRUCTURES		4	Cubic Yard	500	2,000.00
31 CONCRETE COLLAR		10	Cubic Yard	1,500	15,000.00
32 REINFORCEMENT BARS, EPOXY COATED		3,409	Pound	8	27,272.00
33 DRILL AND GROUT DOWEL AND TIE BARS		2,245	Each	9	20,205.00
34 CATCH BASINS		20	Each	5,300	106,000.00
35 CHICAGO STANDARD FRAME		28	Each	200	5,600.00
36 CHICAGO STANDARD LIDS		28	Each	200	5,600.00
37 STANDARD		1	Each	3,450	3,450.00
INLETS		2	F1.	5.050	11 700 00
38 SOIL BORING 39 WASTE CHARACTERIZATIO N ANALYSIS		12	Each Each	5,850 975	11,700.00 11,700.00
40 TRENCH BACKFILL		11,704	Cubic Yard	1	11,704.00
41 EARTH EXCAVATION		612	Cubic Yard	89	54,468.00
42 SPECIAL SOILS WASTE REMOVAL AND DISPOSAL		7,099	Cubic Yard	30	212,970.00
43 STABILIZATION STONE		1,043	Ton	60	62,580.00
44 TEMPORARY STONE		50	Ton	33	1,650.00
45 TEMPORARY COLD PATCH		50	Ton	273	13,650.00
46 PORTLAND CEMENT CONCRETE BASE COURSE, VARIABLE DEPTH		1,276	Cubic Yard	420	535,920.00
47 PORTLAND CEMENT CONCRETE BASE COURSE, HES, VARIABLE DEPTH		58	Cubic Yard	445	25,810.00
48 BITUMINOUS PAVEMENT SURFACE REMOVAL, VARIABLE DEPTH,		7,137	Square Yard	4.7	33,543.90

**Specification Number: 1267955** 

Line	Item, Rev	Target	Unit	Response	Amount
		Quantity		Price	
4" AND LESS					
49 CONCRETE		4,770	Square	4.7	22,419.00
PAVEMENT			Yard		
SURFACE					
REMOVAL,					
VARIABLE DEPTH,					
2" AND LESS					
50 SUBBASE		130	Square	13	1,690.00
GRANULAR		100	Yard	120	1,000.00
MATERIAL, TYPE B			Turu		
4"					
51 SUBBASE		5,070	Square	25	126,750.00
GRANULAR		3,070	Yard	23	120,730.00
MATERIAL, TYPE B			Tara		
6"					
52 PAVEMENT		1,639	Square	30	49,170.00
REMOVAL		1,039	Yard	30	77,170.00
53 DRIVEWAY AND		241	Square	28	6,748.00
		241	Yard	20	0,740.00
ALLEY PAVEMENT REMOVAL			1 ard		
		115	Lincon	6	600.00
54 CURB REMOVAL		115	Linear	6	690.00
55 COMPINIATION		1 272	Foot	7	0.611.00
55 COMBINATION		1,373	Linear	7	9,611.00
CURB AND GUTTER			Foot		
REMOVAL		2.220			500400
56 SIDEWALK AND		2,328	Square	3	6,984.00
ADA RAMP			Foot		
REMOVAL			_	1	
57 PORTLAND		243	Square	145	35,235.00
CEMENT			Yard		
CONCRETE					
DRIVEWAY AND					
ALLEY PAVEMENT					
58 COMBINATION		1,373	Foot	50	68,650.00
CURB AND GUTTER,					
TYPE BV.12					
59 CONCRETE		115	Foot	50	5,750.00
CURB, TYPE B					
60 PORTLAND		2,054	Square	15	30,810.00
CEMENT			Foot		
CONCRETE					
SIDEWALK - 5-INCH					
61 PORTLAND		274	Square	16	4,384.00
CEMENT			Foot		
CONCRETE ADA					
RAMP - 5-INCH				<u> </u>	
62 PORTLAND		2,184	Square	18	39,312.00
CEMENT			Foot		
CONCRETE ADA					
RAMP - 8-INCH					
63 PROTECTIVE		243	Square	5	1,215.00
CONCRETE COAT			Yard		,
64 DETECTABLE		72	Square	45	3,240.00
ADA WARNING			Foot		
TILES, LINEAR					
65 BITUMINOUS		5,055	Pound	1	5,055.00
MATERIALS (TACK		-,			
The transfer of the transfer o				1	1

**Specification Number: 1267955** 

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
COAT)					
66 LEVELING		76	Ton	70	5,320.00
BINDER (MACHINE					
METHOD). N30					
67 LEVELING		5	Ton	75	375.00
BINDER (MACHINE			1011	"3	373.00
METHOD), N70					
68 HOT-MIX		1,246	Ton	107	133,322.00
ASPHALT SURFACE		1,210	1011	107	133,322.00
COURSE, IL-9.5L,					
MIX "C", N30 (CDOT)					
69 HOT-MIX		44	Ton	108	4,752.00
ASPHALT SURFACE			1011	100	4,732.00
COURSE, MIX "D",					
N70					
70 THERMOPLASTIC		1,143	Foot	2	2,286.00
PAVEMENT		1,173	1 001	-	2,200.00
MARKING - LINE 6"					
71 THERMOPLASTIC		602	Foot	6	3,612.00
PAVEMENT		002	1.001		3,012.00
MARKING - LINE 24"					
72 HYDRAULIC		148	Square	25	3,700.00
SEEDING		148	Yard	23	3,700.00
		148		25	3,700.00
73 TOPSOIL FURNISH AND		148	Square Yard	23	3,700.00
			raru		
PLACE, 3"		1	T1.	650	(50.00
74 MANHOLES TO		1	Each	650	650.00
BE ADJUSTED		9	T1.	(50	5.050.00
75 VALVE VAULTS		9	Each	650	5,850.00
TO BE ADJUSTED		2	T1.	510	1.557.00
76 CATCH BASINS		3	Each	519	1,557.00
TO BE CLEANED		1	F 1	260	260.00
77 INLETS TO BE		1	Each	369	369.00
CLEANED		0	F 1	210	1.071.00
78 VALVE VAULTS		9	Each	219	1,971.00
TO BE CLEANED			T 1	2.102	15.510.00
79 TEMPORARY		5	Each	3,102	15,510.00
WATER MAIN					
SUPPORT					
STRUCTURE - TYPE					
		1	F 1	42.500	42.500.00
80 TEMPORARY		1	Each	42,500	42,500.00
WATER MAIN					
SUPPORT					
STRUCTURE - TYPE					
II, 16"		1	Г. 1	10.500	40.500.00
81 TEMPORARY		1	Each	42,500	42,500.00
WATER MAIN					
SUPPORT					
STRUCTURE - TYPE					
II, 24"		20	T .	226	4.500.00
82 WATER MAIN		20	Linear	226	4,520.00
INSTALLED IN			Foot		
OPEN CUT - 8-INCH				10.000	27.000.00
83 CUT, CAP, AND		2	Each	12,900	25,800.00
REPLACE EXISTING					
WATER MAIN FOR					

**Specification Number: 1267955** 

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
UTILITY INSTALLATION - 8 INCH					
84 WS1A - NEW EXTERIOR WATER SERVICE, FROM THE WATER MAIN TO THE ROUNDWAY, TRENCHLESS - 1		1,002	Linear Foot	147	147,294.00
INCH  85 WS1B - NEW  EXTERIOR WATER  SERVICE, FROM  THE WATER MAIN  TO THE  ROUNDWAY, OPEN  CUT - 1 INCH		553	Linear Foot	392	216,776.00
86 WS1C - NEW EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDENCE, TRENCHLESS - 1 INCH		256	Linear Foot	300	76,800.00
87 WS1D - NEW EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDNCE, OPEN CUT - 1 INCH		306	Linear Foot	150	45,900.00
88 WS1E - NEW EXTERIOR WATER SERVICE, FROM THE WATER MAIN TO THE ROUNDWAY, TRENCHLESS - 1.5 INCH		80	Linear Foot	210	16,800.00
89 WS1F - NEW EXTERIOR WATER SERVICE, FROM THE WATER MAIN TO THE ROUNDWAY, OPEN CUT - 1.5 INCH		80	Linear Foot	437	34,960.00
90 WS1G - NEW EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDENCE, TRENCHLESS - 1.5 INCH		80	Linear Foot	388	31,040.00
91 WS1H - NEW		80	Linear	226	18,080.00

**Specification Number: 1267955** 

Line	Item, Rev	Target	Unit	Response	Amount
		Quantity		Price	
EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDENCE, OPEN CUT - 1.5 INCH			Foot		
92 WS1I - NEW		214	Linear	206	44,084.00
EXTERIOR WATER SERVICE, FROM THE WATER MAIN TO THE ROUNDWAY, TRENCHLESS - 2 INCH			Foot		
93 WS1J - NEW EXTERIOR WATER SERVICE, FROM THE WATER MAIN TO THE ROUNDWAY, OPEN CUT - 2 INCH		227	Linear Foot	471	106,917.00
94 WS1K - NEW EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDENCE, TRENCHLESS - 2 INCH		214	Linear Foot	373	79,822.00
95 WS1L - NEW EXTERIOR WATER SERVICE, FROM THE ROUNDWAY INTO THE RESIDENCE, OPEN CUT - 2 INCH		227	Linear Foot	206	46,762.00
96 WS1M - EXTRA COPPER INTERIOR WATER SERVICE, 0.5 INCH TO 1 INCH		100	Linear Foot	75	7,500.00
97 WS1N - EXTRA COPPER INTERIOR WATER SERVICE, 1.5 INCH		100	Linear Foot	85	8,500.00
98 WS10 - EXTRA COPPER INTERIOR WATER SERVICE, 2 INCH		100	Linear Foot	100	10,000.00
99 WS1P - INSTALL NEW METER - INTERIOR		83	Each	100	8,300.00
100 WS1Q - INSTALL NEW METER - METER VAULT 1 INCH		5	Each	4,550	22,750.00
101 WS1R - INSTALL NEW METER -		2	Each	13,700	27,400.00

**Specification Number: 1267955** 

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
METER VAULT 1.5					
INCH OR 2 INCH					
102 WS1S - WATER		42	Linear	4	168.00
SERVICE SLEEVE, 3			Foot		
INCH					
103 WS2A -		50	Linear	267	13,350.00
REPLACEMENT OF			Foot		
EXISTING HOUSE					
DRAIN WITH PVC, 6-					
INCH DIA.					
104 WS2B -		25	Linear	286	7,150.00
REPLACEMENT OF			Foot		
EXISTING HOUSE					
DRAIN WITH PVC, 8-					
INCH DIA.					
105 WS2C -		25	Linear	312	7,800.00
REPLACEMENT OF			Foot		
EXISTING HOUSE					
DRAIN WITH PVC,					
10 TO 12-INCH DIA.					
106 WS3A - PVC		959	Linear	3	2,877.00
CASING PIPE, 2			Foot		
INCH DIA					
107 WS3B - PVC		262	Linear	4	1,048.00
CASING PIPE, 3			Foot		
INCH DIA					
108 WS3C - PVC		541	Linear	5	2,705.00
CASING PIPE, 4			Foot		
INCH DIA					

#### 2.2 Line Details

#### 2.2.1 Line 1 ENGINEER'S FIELD OFFICE

Category **90626.**Need-By Date **Not Specified** 

Ship-To Address **C09** 

VARIOUS NEW CONSTRUCTION

**SITES** 

CHICAGO, ILLINOIS

Chicago, IL United States

#### 2.2.2 Line 2 MOBILIZATION

Category **96899**.

Ship-To Address C09

Need-By Date Not Specified

VARIOUS NEW CONSTRUCTION

**SITES** 

CHICAGO, ILLINOIS

Chicago, IL United States

**Specification Number: 1267955** 

**Type of Funding: CITY** 

Title: 1267955: Parnell North of West Pershing Road Sewer Improvement Project

Start Price (USD) Not Specified

Start Price (USD) Not Specified

Target Price (USD) Not Specified

Target Price (USD) Not Specified

FOR CONSTRUCTION PROJECTS ONLY

#### **SCHEDULE D**

Compliance Plan Regarding MBE & WBE Utilization
<u>Affidavit of Prime Contractor</u>

# MUST BE SUBMITTED WITH THE BID. FAILURE TO SUBMIT THE SCHEDULE D WILL CAUSE THE BID TO BE REJECTED. DUPLICATE AS NEEDED.

Project Name:	Parnell Avenue: North of Pershing Road Sewer Improvement Project				
Specification No.:	1267955	· ·			
In connection with the above cap	otioned contract, I HEREBY DECI				
President		and a duly authorized representative of			
(Title of Affiant)					
Benchmark Construction Co., Inc.	•				
(Name of Prime Contractor)					

and that I have personally reviewed the material and facts set forth in the attached Schedule Cs regarding Minority Business Enterprise and Women Business Enterprise (MBE/WBE) to perform as subcontractor, Joint Venture Agreement, and Schedule B (if applicable). All MBEs and WBEs must be certified with the City of Chicago or Cook County in the area(s) of specialty listed.

Name of MBE	Type of Work to be Performed in accordance with Schedule Cs	Total MBE Participation in dollars	MBE Participation in percentage	Mentor Protégé Program Credit Claimed	Total MBE Participation in percentage
Hamilton Construction Inc	utilities, road	\$614,560.00	6.34%	0.00%	6.34%
Whiteline Construction Co Inc	concrete, road	\$983,674.00	10.20%	0.00%	10.20%
Smith Maintenance Co	traffic, striping	\$52,659.00	0.50%	0.00%	0.50%
Chicagoland Truckin' Inc	haul aggs and spoil	\$850,095.00	8.80%	0.00%	8.80%
Horizon Contractors, Inc	electrical	\$69,193.00	0.70%	0.00%	0.70%
					0.00%
					0.00%
					0.00%
					0.00%
					0.00%
· .					0.00%
					0.00%
					0.00%
					0.00%

# SCHEDULE D: Compliance Plan Regarding MBE And WBE Utilization

Name of WBE	Type of Work to be Performed in accorda with Schedule Cs		WBE Participation in percentage	Mentor Protégé Program Credit Claimed	Total WBE Participation in percentage
L&B Trucking, Inc	haul aggs & spoil	\$575,000.00	5.94%	0.00%	5.94%
				0.00%	0.00%
					0.00%
					0.00%
					0.00%
					0.00%
					0.00%
***************************************					0.00%
					0.009
					0.00%
MBE/WBE protégé firn  Total MBE Participation		70,181.00			
,	n % (including any Mentor				
	, , , , , , , , , , , , , , , , , , , ,	Protege Program crediti		26.53%	
Total WBE Participation	n \$ 57!		#00000 min chara	26.53%	
	n \$ 579 n % (including any Mentor	5,000.00		26.53%	
Total WBE Participatio		5,000.00			
Total Bid \$  To the best of my knov	n % (including any Mentor 9,688,000.00 vledge, information and be	5,000.00 Protégé Program credit) lief the facts and represe	entations contair	5.94%	entioned
Total WBE Participation  Total Bid \$  To the best of my know attached Schedules are	n % (including any Mentor 9,688,000.00 vledge, information and be e true, and no material fact	5,000.00 Protégé Program credit) lief the facts and represes have been omitted.		5.94%	entioned
Total WBE Participation  Total Bid \$  To the best of my know attached Schedules are	n % (including any Mentor 9,688,000.00 vledge, information and be	5,000.00 Protégé Program credit) lief the facts and represes have been omitted.	ison Officer:	5.94%	entioned

(Name- Please Print or Type)

(Phone)

# SCHEDULE D: Compliance Plan Regarding MBE And WBE Utilization

I DO SOLEMNLY DECLARE AND AFFIRM UNDER PENALTIES OF PERJURY THAT THE CONTENTS OF THE FOREGOING DOCUMENT ARE TRUE AND CORRECT, AND THAT I AM AUTHORIZED ON BEHALF OF THE PRIME CONTRACTOR TO MAKE THIS AFFIDAVIT.

Benchmark Construction	Co., Inc.			
(Name of Prime Contract	tor - Print or type)	State of:	Illinois	
(Signature)		County of:	Cook	
Mark Atkins, Jr. / Preside	nt			
(Name/Title of Affiant - F				
January 13, 2025				
(Date)				
On this <u>13</u> day of <u>J</u>	anuary 2025	, the above	signed officer	Mark Atkins, Jr.
				(Name of Affiant)
personally appeared and, k	nown by me to be the per	rson described i	n the foregoing A	ffidavit, acknowledged that
(s)he executed the same	in the capacity stated t	therein and for	r the purposes t	herein contained.
IN WITNESS WHEREOF, I	Ď	and seal.		
Molly K.	Tranclow	71	***************************************	_
v	(Notary Public Signati	ure)		
				SEAL:
Commission Expires:	February 24, 2027			STATE AND LIVE STANDERS OF STANDERS
				MOLLY K. FRANCESCONI OFFICIAL SEAL Notary Public, State of Illinois My Commission Expires
				February 24, 2027

FOR CONSTRUCTION PROJECTS ONLY

#### **SCHEDULE D-V**

Compliance Plan Regarding VBE Utilization Affidavit of Prime Contractor

# MUST BE SUBMITTED WITH THE BID. FAILURE TO SUBMIT THE SCHEDULE D-V WILL CAUSE THE BID TO BE REJECTED. DUPLICATE AS NEEDED.

Project Name:	Parnell Avenue: North of Pershing	Road Sewer Impro	vement Project							
Specification No.:	1267955	1267955								
In connection with the above of President	captioned contract, I HEREBY DECLARE A	ND AFFIRM that I a		rized representative of						
(Title of Affiant)			-							
Benchmark Construction Co., I	nc.									
(Name of Prime Contractor)			_							
to perform as subcontractors,	ewed the material and facts set forth in Joint Venture, Agreement, and Schedule the City of Chicago in the area(s) of spe	B (if applicable).	dule C-Vs regarding	; VBE's						
Name of VBE	Type of Work to be Performed in accordance with Schedule C-Vs	Total VBE Participation in dollars	VBE Participation in percentage							
Lopez Industries Inc.	Hauling Spoil & Aggregates	\$110,055.00	1.14%	·						
		4								
				•						
Total VBE Participation \$	110,055.00		· ,							
Total VBE Participation %	1.14%		•							
Total Bid \$	9,688,000.00			•						
City Francisco	last metions and Furnitary Decree (2)									

#### SCHEDULE D-V: Compliance Plan Regarding VBE Utilization

To the best of my knowledge, information and belief the facts and representations contained in the aforemen	tioned
attached Schedules are true, and no material facts have been omitted.	

One of more owners or principals of the Prime Contractor ( ) does / ( X ) does not have ownership interest in any VBE listed in this Schedule D-V. Provide names of such individuals and their respective ownership percentages, and identify the VBE firms in which such ownership is held, or indicate "none." Add additional sheets if necessary.

The Prime Contractor designates the following person as it VBE Liaison Officer: **Dominick Fiordirosa** 630-497-1700 (Name - Please Print or Type) (Phone) I DO SOLEMNLY DECLARE AND AFFIRM UNDER PENALTIES OF PERJURY THAT THE CONTENTS OF THE FOREGOING DOCUMENT ARE TRUE AND CORRECT, AND THAT I AM AUTHORIZED ON BEHALF OF THE PRIME CONTRACTOR TO MAKE THIS AFFIDAVIT. Benchmark Construction Co., Inc. (Name of Prime Contractor - Print ør type) State of: Illinois County of: Cook (Signature) Mark Atkins, Jr. / President (Name/Title of Affiant - Print or Type) January 13, 2025 (Date) On this 13 day of January 2025 , the above signed officer Mark Atkins, Jr. (Name of Affiant) personally appeared and, known by me to be the person described in the foregoing Affidavit, acknowledged that

(s)he executed the same in the capacity stated therein and for the purposes therein contained.

IN WITNESS WHEREOF, I hereunto set my hand and seal.

Molly K. Lanceson (Notary Public Signature)

Commission Expires: February 24, 2027

MOLLY K. FRANCESCONI OFFICIAL SEAL Notary Public, State of Illinois My Commission Expires February 24, 2027

SEAL:

#### SEXUAL HARASSMENT POLICY AFFIDAVIT (SECTION 2-92-612)

The policy prohibiting sexual harassment as described in Section 2-92-612 of the Municipal Code of Chicago ("MCC") is applicable to contracts paid from funds belonging to or administered by the City.

Contract title: PARNELL AVENUE: NORTH OF PERSHING ROAD SEWER IMPROVENIENT PROJECT Specification #: 1267955

In accordance with requirements set forth in Section 2-92-612 of the MCC, Contractor hereby attests that Contractor has a written policy prohibiting sexual harassment in compliance with Section 6-10-040 of the MCC.

In accordance with Section 6-10-040 of the MCC, Contractor's written policy prohibiting sexual harassment shall include, at a minimum, the following information:

- (i) a statement that sexual harassment is illegal in Chicago;
- (ii) the following definition of sexual harassment: "Sexual harassment' means any (i) unwelcome sexual advances or unwelcome conduct of a sexual nature; or (ii) requests for sexual favors or conduct of a sexual nature when (1) submission to such conduct is made either explicitly or implicitly a term or condition of an individual's employment, or (2) submission to or rejection of such conduct by an individual is used as the basis for any employment decision affecting the individual, or (3) such conduct has the purpose or effect of substantially interfering with an individual's work performance or creating an intimidating, hostile, or offensive working environment; or (iii) sexual misconduct, which means any behavior of a sexual nature which also involves coercion, abuse of authority, or misuse of an individual's employment position.";
- (iii) a requirement that all employees participate in: (1) sexual harassment prevention training annually, (a) Employees shall participate in a minimum of one hour of sexual harassment prevention training annually, and (b) Anyone who supervises or manages employees shall participate in a minimum of two hours of sexual harassment prevention training annually, and (2) one hour of bystander training annually;
- (iv) Examples of prohibited conduct that constitute sexual harassment;
- (v) Details on: (1) how an individual can report an allegation of sexual harassment, including, as appropriate, instructions on how to make a confidential report, with an internal complaint form, to a manager, employer's corporate headquarters or human resources department, or other internal reporting mechanism; and (2) legal services, including governmental, available to employees who may be victims of sexual harassment; and a statement that retaliation for reporting sexual harassment is illegal in Chicago.

Contractor understands that it may be required to produce records to the CPO to verify the information provided.

Under penalty of perjury the person signing below: (1) warrants that he/she is authorized to execute this Affidavit on behalf of Contractor, and (2) warrants that all certifications and statements contained in this Affidavit are true, accurate, and complete as of the date of execution.

Name of Contractor: BENCHIMARIA CONSTRUCTION COLLING.
(Print or Type) Signature of Authorized Officer:
Title of Signatory: MARK ATKINS, JR - PRESIDENT
State of ILUNOIS  (Print or Type)
1 A CONTROL OF THE PARTY OF THE
County of KANE Signed and sworn (or affirmed) to before me on 1/13/2025 (date) by MARICATIONS VIR (name/s of person/s making statement).  Making K. J. Lancascon.  (Signeture of Notory Public)
(Signature of Notary Public)
(Seal)
MOLLY K. FRANCESCONI

MOLLY K. FRANCESCONI
OFFICIAL SEAL
Notary Public, State of Illinois
My Commission Expires
February 24, 2027

#### AFFIDAVIT OF UNCOMPLETED WORK

Complete This Form By Either Typing Or Using Black Ink

#### Part I. Work Under Contract

List below all work you have under contract as either a prime contractor or a subcontractor. It is required to include all pending low bids not yet awarded or rejected. In a Joint Venture, list only that poi which is the respondibility of your company. The uncompleted dollar value is to be based upon the most recent engineer's or owners estimate, and must include work subcontracted to others. If no wo show NONE

	1	2	3	4	5	6	7
County and Section Number	WM District 3 Term Agreement	WM District 4 Term Agreement	WM District 5 Term Agreement	WM District 6 Term Agreement	WM District 1 2020 Term Agreement	WM District 3 2020 Term Agreement	WM District4 2020 Term Agreement
CONTRACT WITH	City of Chicago DWM	City of Chicago DWM	City of Chicago DWM				
ESTIMATED COMPLETION DATE	December 2020	December 2020	December 2020	December 2020	April 2022	April 2022	April 2022
TOTAL CONTRACT PRICE	\$95,388,000.00	\$95,388,000.00	\$93,488,700.00	\$91,888,700.00	\$49,438,000.00	\$49,438,000.00	\$49,438,000.00
UNCOMPLETED DOLLAR VALUE if firm is the prime contractor	\$2,274,707.88	\$3,531,540.80	\$2,503,570.51	\$1,891,297.56	\$20,276,318.45	\$20,276,318.45	\$20,276,319.45
Uncompleted Dollar Value if Firm is the Subcontractor	0.00	0.00	0.00	0.00	0.00	0,00	0.00

### PART II. Uncompleted Work to be Done with Your Own Forces

List below the uncompleted dollar value of work for each contract and awards pending to be completed with your own forces. All work subcontracted to others will be listed on the reverse of this form. In a Joint Venture, li of the work to be done by your company. If no work is contracted, show NONE.

	1	2	3	4	5	6	7
EXCAVATING & GRADING	\$0.00	0.00	\$0.00	\$0.00	6,500,000.00	\$6,001,840.41	\$6,500,000.00
PCC BASE, C&G, PAVING							
BIT CONCRETE PAVING							
STABILIZED BASE (BAM, CAM, PAM)							
AGGREGATE BASE AND FILL	\$950,000.00	\$550,000.00	\$420,780.00	\$600,000.00	\$4,299,302.95	\$4,299,302.95	\$4,299,302.95
FOUNDATION (CAISSON & PILE)							
HIGHWAY STRUCTURES	\$150,000.00	\$750,000.00					
SEWER & DRAIN STRUCTURES	\$4,506,000.00	\$2,500,000.00	\$2,940,000.00	\$4,230,000.00	\$14,384,888.85	\$14,384,888.85	\$14,384,888.85
TRAFFIC CONTROL	\$95,000.00	\$95,000.00	\$89,000.00		\$0.00		
PAVEMENT MARKING	\$150,000.00	\$75,000.00	\$20,000.00	\$562,000.00	\$175,000.00	\$175,000.00	\$175,000.00
INSURANCE BONDS, ETC					\$675,800.00	\$675,800.00	\$675,800.00
LANDSCAPING	\$140,000.00	\$200,780.00	\$270,230.00	\$584,290.00	\$750,000.00	\$750,000.00	\$750,000.00
SEWER LINING	\$125,000.00						
FENCING							
SUBTOTAL	6,116,000.00	4,170,780.00	3,740,010.00	5,976,290.00	\$26,784,991.80	\$26,286,832.21	\$26,784,991.80

rtion of the work rk is contracted,

						1	<i>T</i>
8	9	10	11	12	13	14	15
WM District 6 2020	WM District 2 2020 JV	WM District 5 2020 JV	IDOT 77	IDOT 81	PALATINE CIPP	GLENVIEW CIPP	Village of Oak Lawn
City of Chicago DWM	City of Chicago	City of Chicago	CONTRACT #61H23 - Skokie	CONTRACT #61H80 - Algonquin	CITY OF PALATINE	CITY OF GLENVIEW	Orland Pk Spur 2
April 2022	August 31, 2022	August 31, 2022	June 30th,2024	July-24			January-25
\$47,838,000.00	\$48,388,000.00	\$48,388,000.00	\$6,618,000.00	\$8,448,000.00	\$223,000.00	\$750,000.00	\$21,188,000.00
\$15,346,470.00	\$28,335,835.30	\$27,184,285.40	\$1,908,568.68	\$0.00	\$0.00	\$0.00	\$1,418,041.00
0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

st only that portion

				TO BE THE THE	W		
8	9	10	11	12	13	14	15
\$5,800,640.13	\$6,500,000.00	\$6,500,000.00					
\$2,941,886.05	\$2,941,886.05	\$2,941,886.05					
\$4,299,302.95	\$4,299,302.95	\$4,299,302.95					
<b>WILLIA 300 00 - 100 100</b>							
\$19,304,541.00	\$19,304,541.00	\$19,304,541.00					
\$675,800.00	\$675,800.00	\$675,800.00					
\$570,000.00	\$570,000.00	\$570,000.00					
33,592,170.13	34,291,530.00	\$34,291,530.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

			Y	1				1
16	17	18	19	20	21	22	23	
Village of Woodridge	Schiller Park	Village of Oak Lawn	City of Aurora	MWRD	City of Chicago Lead Serv Line D3B	City of Chicago Lead Serv Line D5B	City of Chicago Lead Serv Line D6B	
Crabtree Sanitary	2024 Water Main Improvments	BP-7A	Lebanon&Pearl Sewer Separation	Upper Des Plaines Sewer	City of Chicago	City of Chicago	City of Chicago	
October-24	June-24	April-26	September-24	December-24	December-26	December-26	December-26	
\$2,838,000.00	\$7,238,000.00	\$31,948,000.00	\$988,000.00	\$8,348,000.00	\$38,938,000.00	\$38,888,000.00	\$38,888,000.00	TOTAL \$874,382,400.00
\$239,664.45	\$0.00	\$0.00	\$0.00	\$450,551.80	\$5,826,686.00	\$8,358,450.00	\$8,330,109.00	\$168,428,734.7
0.00				0.00	0.00	0.00	0.00	\$0.00

				***************************************				
16	17	18	19	20	21	22	23	TOTALS
	\$2,000,000.00	\$12,500,000.00						\$52,302,48
								\$
						ATT 11		\$
								\$8,825,65
								\$28,316,59
								9
								\$900,00
	\$5,238,000.00	\$19,500,000.00	\$988,000.00					\$140,970,28
								\$279,00
								\$1,332,00
								\$4,054,80
								\$5,155,30
								\$125,00
							941 - LANP LANG - L	
\$0.00	\$7,238,000.00	\$32,000,000.00	\$988,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$242,261,1

# AFFIDAVIT OF UNCOMPLETED WOF

### Part III. Work Subcontracted to Others.

List below the work, according to each contract on the preceding page, which you have subtained NOT include work to be performed by another prime contractor in a joint venture. No work resubcontracted to others on Awards Pending. If no work is subcontracted to others, show NO

	1	2	3	4
	WM District 3	WM District 4	WM District 5	WM District 6
Subcontractor	JSR Construction	JSR Construction	JSR Construction	JSR Construction
Type of Work	Plumbing	Plumbing	Plumbing	Plumbing
Subcontract Price	\$675,044.50	675,044.50	675,044.50	675,000.00
Amount Uncompleted	\$0.00	0.00	0.00	0.00
Subcontractor	Hamilton Contractors	Hamilton Contractors	Hamilton Contractors	Hamilton Contractors
Type of Work	Utility Install	Utility Install	Utility Install	Utility Install
Subcontract Price	\$3,503,796.00	3,503,796.00	3,503,796.00	1,127,180.67
Amount Uncompleted	\$464,209.73	1,266,131.69	198,165.29	618,307.07
Subcontractor	ChicagoLand Trucking	Chicagoland trucking	Chicagoland trucking	Chicagoland trucking
Type of Work	Hauling	Hauling	Hauling	Hauling
Subcontract Price	\$1,500,086.00	1,500,086.00	1,500,086.00	1,500,086.00
Amount Uncompleted	\$65,418.00	2,989.00	14,504.00	41,968.50
Subcontractor	Menni Cartage, Inc.	Menini Cartage, Inc	Menini Cartage, Inc	Menini Cartage, Inc
Type of Work	Hauling	Hauling	Hauling	Hauling
Subcontract Price	\$1,272,040.00	1,272,040.00	1,272,040.00	1,272,040.00
Amount Uncompleted	\$0.00	0.00	0.00	0.00

Subcontractor	D.J. Massat, Inc.	D. J. Massat, Inc.	D. J. Massat, Inc.	D. J. Massat, Inc.
Type of Work	Hauling	Hauling	Hauling	Hauling
Subcontract Price	\$1,272,000.00	1,272,000.00	1,272,000.00	1,272,000.00
Amount Uncompleted	\$0.00	0.00	0.00	0.00
Subcontractor	Millennium Contracting	Bigane Asphalt Paving	Bigane Asphalt Paving	Bigane Asphalt Paving
Type of Work	Install Utilities	Asphalt Paving	Asphalt Paving	Asphalt Paving
Subcontract Price	\$3,000,890.00	24,500,000.00	24,500,000.00	24,500,000.00
Amount Uncompleted	\$203,159.34	875,992.63	681,961.31	534,663.59
Subcontractor	Bigane Asphalt Paving	Millennium Contracting	Millennium Contracting	Millennium Contracting
Type of Work	Asphalt Paving	Install Utilities	Install Utilities	Install Utilities
Subcontract Price	\$24,500,000.00	3,000,890.00	3,000,890.00	3,000,890.00
Amount Uncompleted	\$969,234.13	87,501.50	30,331.35	42,563.56
Total Uncompleted	\$1,702,021.20	\$2,232,614.82	\$924,961.95	\$1,237,502.72

# CONTINUATION PAGE

	1	2	3	4
	NAMA District 2	NAMA EDICATION A	NAMA District 5	MAN Division
	WM District 3	WM District 4	WM District 5	WM District 6
Subcontractor	United Enterprise LLC	United Enterprise LLC	United Enterprise LLC	United Enterprise LLC
Type of Work	Water Services	Water Services	Water Services	Water Services
Subcontract Price	\$3,000,000.00	\$3,000,000.00	3,000,890.00	3,000,890.00
Amount Uncompleted	\$343,576.35	\$309,709.81	514,090.26	383,274.30
Subcontractor	Civil Contracting	Civil Contracting	Civil Contracting	Civil Contracting
Type of Work	Utility Installation	Utility Installation	Utility Installation	Utility Installation
Subcontract Price	\$3,504,246.00	\$3,504,246.00	3,503,796.00	3,503,796.00

		<del></del>	· · · · · · · · · · · · · · · · · · ·	
Amount Uncompleted	\$175,716.83	\$982,196.67	1,012,310.80	221,439.29
Subcontractor	BBD Trucking	BBD Trucking	BBD Trucking	BBD Trucking
Type of Work	Hauling	Hauling	Hauling	Hauling
Subcontract Price	\$1,272,000.00	\$1,500,030.00	1,500,030.00	1,500,030.00
Amount Uncompleted	\$0.00	\$0.00	0.00	0.00
Subcontractor	L&B Trucking, Inc.	L&B Trucking, Inc.	L&B Trucking, Inc	L&B Trucking, Inc
Type of Work	Hauling	Hauling	Hauling	Hauling
Subcontract Price	\$1,272,040.00	\$1,272,040.00	1,272,040.00	1,272,040.00
Amount Uncompleted	\$53,393.50	\$7,019.50	52,207.50	49,081.25
Subcontractor				
Type of Work				
Subcontract Price				
Amount Uncompleted				
Subcontractor				
Type of Work				
Subcontract Price				
Amount Uncompleted				
Subcontractor				
Type of Work				
Subcontract Price				
Amount Uncompleted				
Total Uncompleted	\$2,274,707.88	\$3,531,540.80	\$2,503,570.51	\$1,891,297.56

contracted to others. DO nay be indicated as ONE.

5	6	7	8	9	10	11
WM District 1 2020	WM District 3 2020	WM District 4 2020	WM District 6 2020	WM District 2 2020 JV	WM District 5 2020 JV	IDOT 77 #61 H23
Hamilton Construction	Hamilton Construction	Hamilton Construction	Hamilton Construction	PanOceanic Eng	PanOceanic JV	
WM Construction	WM Construct	WM Construct	WM Construct	WMConstruct	WM Construct	
2,904,594.75	2,904,594.75	2,904,594.75	\$3,008,498.00	12,625,168.50	12,625,168.50	
2,904,594.75	2,904,594.75	2,904,594.75	\$3,008,498.00	12,625,168.50	12,625,168.50	
Civil Contractor & Engineers, Inc.	Civil Contractor & Engineers, Inc.	Civil Contractor & Engineers, Inc.	Civil Contractor & Engineers, Inc.	Civil Contractor	Civil Conhtractor	
WM Construction	WM Construct	WM Construct	WM Construct	WM Install	WM Install	
1,207,120.90	1,207,120.90	1,207,120.90	\$1,102,332.90	1,102,332.90	1,102,332.90	
1,207,120.90	1,207,120.90	1,207,120.90	1,102,332.90	1,102,332.90	1,102,332.90	0.00
United Enterprise LLC	United Enterprise LLC	United Enterprise LLC	United Enterprise	United Enterprise	Unitited Enterprise	
WM Construction	WM Construction	WM Construction	WM Construct	WM Conbstruction	WM Install	
2,251,229.75	2,251,229.75	2,251,229.75	2,250,487.75	1,150,000.00	1,150,000.00	
2,251,229.75	2,251,229.75	2,251,229.75	2,250,487.75	1,150,000.00	1,150,000.00	0.00
Garces Contracting	Garces Contracting	Garces Contracting	E4 Contractor, Inc	E4 Contractor	E4 Contractor	
WM Construction	WM Construct	WM Construct	WM Construct	WM Install	WM Install	
1,207,120.90	1,207,120.90	1,207,120.90	1,102,332.90	1,102,332.90	901,606.00	
1,207,120.90	1,207,120.90	1,207,120.90	1,102,332.90	1,102,332.90	901,606.00	0.00

Pan-Oeanic Engineering	Pan Oceanic Engineering	Pan Oceanic Engineering	JLA & Sons Construction	Bigane Paving	Bigane Paving	
WM Construction	WM Construct	WM Construct	WM Construct	Paving	Paving	
2,482,694.75	2,482,694.75	2,482,695.75	1,102,332.90	9,000,000.00	4,000,000.00	
2,482,694.75	2,482,694.75	2,482,695.75	1,102,332.90	9,000,000.00	4,000,000.00	0.00
Smith Maintenance	Smith Maintenance	Smith Maintenance	Garces Contracting	Trafic Services Inc	Trafic Services Inc	
Traffic Control	Traffic Control	Traffic Control	WM Construct	Traffic Control	Traffic Control	
155,000.00	155,000.00	155,000.00	1,102,332.90	155,000.00	155,000.00	
155,000.00	155,000.00	155,000.00	1,102,332.90	155,000.00	155,000.00	0.00
JSR Enterprise	JSR Enterprise	JSR Enterprise	JSR Enterprises	JSR Enterprises	JSR Enterprises	4-
Plumbing	Plumbing	Plumbing	Plumbing	Plumbing	Plumbing	
300,135.00	300,135.00	300,135.00	\$400,350.00	100,000.00	100,000.00	
300,135.00	300,135.00	300,135.00	400,350.00	100,000.00	100,000.00	0.00
\$10,507,896.05	\$10,507,896.05	\$10,507,897.05	\$10,068,667.35	\$25,234,834.30	\$20,034,107.40	\$0.00

5	6	7	8	9	10	11
WM District 1 2020	WM District 3 2020	WM District 4 2020	WM District 6 2020	WM District 2 2020 JV	WM District 5 2020 JV	IDOT 77 #61 H23
G&V Construction	G&V Construction	G&V Construction	Pan Oceanic Engineering	G & V Construction	G & V Construction	
Concrete	Concrete	Concrete	WM Construction	Concrete	Concrete	
2,000,372.50	2,000,372.50	2,000,372.50	\$2,250,487.75	2,000,487.00	2,000,178.00	
2,000,372.50	2,000,372.50	2,000,372.50	2,250,487.75	2,000,487.00	2,000,178.00	0.00
Advanced Water Solutions	Advanced Water Solutions	Advanced Water Colutions	Advanced Water Solutions	Advanced Water Solutions	MAT Construction	
WM Construction	WM Construct	WM Construct	WM Construction	WM Construction	WM Construction	
968,049.90	968,049.90	968,049.90	871,739.90	450,053.00	5,000,000.00	

	I	1		I	T	
968,049.90	968,049.90	968,049.90	871,739.90	450,053.00	5,000,000.00	0.00
Bigane Asphalt Paving	Bigane Asphalt Paving	Bigane Asphalt Paving	Smith Maintenance	True North	True North	
Asphalt Paving	Asphalt Paving	Asphalt Paving	Traffic Control	Soil Assesment	Soil Assesment	
6,800,000.00	6,800,000.00	6,800,000.00	155,000.00	100,000.00	100,000.00	
6,800,000.00	6,800,000.00	6,800,000.00	155,000.00	100,000.00	100,000.00	0.00
			G&V Construction	L & B Trucking	L & B Trucking	
			Concrete Restoration	Hauling	Hauling	
			2,000,575.00	50,000.00	50,000.00	
**************************************			2,000,575.00	50,000.00	50,000.00	0.00
				Enlight		
	****			Earth Excavation		
The state of the s				500,461.00		
				500,461.00		
						10,110,000
Mysterior and the fact of the second		11 (2) (2) (3) (4) (4) (4) (4) (4) (4) (4) (4) (4) (4		77-37-0 (WWW.003041) 8		
				***************************************		W. S. W. C.
\$20,276,318.45	\$20,276,318.45	\$20,276,319.45	\$15,346,470.00	\$28,335,835.30	\$27,184,285.40	\$0.00

I, being duly sworn do hereby declare that this affidavit is a true and correct statement relating to ALL uncompleted contracts of the undersigned for Federal, State, County, City and private work including ALL subcontracted work. ALL pending low bids not yet awarded or rejected and ALL estimated completion dates.

Subscribed and Sworn to Before me this 13th day of January, 2025

Signed:

Mark Atkins, Jr., President

Tim Strepek, Secretary

My Commission Expires: 2/24/2027

Company:

Benchmark Construction Co., Inc.

State of Illinois

Address:

3349 S. Kedzie Avenue

Chicago, IL 60623

County of Kane

This instrument was acknowledged before me on this 13th day of January, 2025 by Mark Atkins, Jr. as President (or other authorized officer) and Tim Strepek as Secretary of Benchmark Construction Co. Inc.

Notary Public Signature

MOLLY K. FRANCESCONI
OFFICIAL SEAL
Notary Public, State of Illinois
My Commission Expires
February 24, 2027

#### BIDDER'S COMMITMENT TO UTILIZE VETERAN-OWNED SUBCONTRACTORS AFFIDAVIT

The Veteran-Owned Subcontractors Incentive as described in Section 2-92-940 of the Municipal Code of Chicago ("MCC") is applicable to competitively bid construction projects funded in whole by City funds. Bidder must submit this form with the bid if it desires to be considered for this bid incentive. Bidders that do not submit this page with their bid will not be eligible for this bid incentive. Bidders must attach a copy of each veteran-owned subcontractor's City of Chicago VBE certification letter. No other certification letters will be accepted for purposes of determining eligibility for this bid incentive. If this incentive is allocated, neither the Bid Incentive for Certain City-Based Manufacturers described in MCC 2-92-410, nor any other procurement set-aside benefit for a veteran-owned business enterprise under the MCC, will be allocated to the same bid.

Note: The CPO may request additional information or documentation before determining to apply the preference.

- 1. Contract title: PARNELL AVENUE: NORTH OF PERSHING ROAD SEWER IMPROVENENT PROJECT Specification #: 1,247955
- 2. The value of work performed by veteran-owned subcontractors (as defined in MCC 2-92-920 and the applicable bid solicitation) that Bidder commits to provide will be what percentage of the total dollar value of the contract?

(×) 1% to 16%-- 0.5% incentive ( ) 17% to 32%-- 1% incentive ( ) 33% to 49%-- 1.5% incentive ( ) 50% or greater-- 2% incentive

Bidder understands that if it fails to utilize the committed percentage of veteran-owned subcontractors, under MCC 2-92-940 it may be fined in an amount equal to three times the amount of the bid incentive allocated, unless the prime contractor can demonstrate that due to circumstances beyond the prime contractor's control, the prime contractor for good cause was unable to retain the percentage of veteran-owned subcontractors throughout the duration of the contract period.

Bidder understands that it may be required to produce records to the CPO to verify the information provided.

Bidder understands that if a veteran-owned subcontractor is also an MBE/WBE, any participation on the contract that is utilized toward MBE/WBE goals on the prime contractor's compliance plan shall not count toward the total dollar value of work performed by veteran-owned subcontractors for purposes of this Bid Incentive.

Signature page follows.

# BIDDER'S COMMITMENT TO UTILIZE VETERAN-OWNED SUBCONTRACTORS AFFIDAVIT – SIGNATURE PAGE

Under penalty of perjury the person signing below: (1) warrants that he/she is authorized to execute this Affidavit on behalf of bidder, and (2) warrants that all certifications and statements contained in this Affidavit are true, accurate, and complete as of the date of execution.

Name of Bidder: BENCHMARK CONSTRUCTION CO., LAC.	
(Print or Type)	,
Signature of Authorized Officer:	1
(Signature)	
Title of Signatory: MARK ATKINS, JR - PRESIDENT	
(Print or Type)	
State of LUNOIS  County of KANE Signed and sworn (or affirmed) to before me on 113 2025 (date) by  WARLATRUS, JR (name/s of person/s making statement).  (Signature of Notary Public) (Seal)  MOLLY K. FRANCESCONI OFFICIAL SEAL Notary Public, State of Illinois My Commission Expires	

February 24, 2027

Affidavits 107

# DIVERSE MANAGEMENT AND WORKFORCE BID INCENTIVES AFFIDAVIT

By submitting this affidavit, Bidder certifies that it has reviewed Section 2-92-407 of the Municipal Code of Chicago ("MCC"), represents that it is eligible for the applicable bid incentive(s), and commits to maintaining a diverse workforce and/or management in the percentage(s) indicated below.

The Bid Incentives to Encourage Diverse Management and Workforce as described in MCC 2-92-407 are applicable to competitively bid contracts funded solely by City funds. Bidder may qualify for and apply for both or either of the diverse management and diverse workforce bid incentives.

Bidder must submit this affidavit and required documentation with the bid if it desires to be considered for either bid incentive. Bidders that do not submit this affidavit with and the applicable completed Detailed Diverse Management and Detailed Diverse Workforce Excel sheets will not be eligible to receive either bid incentive.

In the event the Bidder selects the wrong percentage or fails to select a percentage in Question(s) 1 and/or 2 of the affidavit, but answers all other questions in the affidavit, the Bidder will remain eligible for the incentive in the amount supported by the answers on this affidavit and the information provided in the completed Detailed Diverse Management and Detailed Diverse Workforce Excel sheets. Attach additional sheets if necessary. Attach additional sheets if necessary.

The CPO may request additional information or documentation before determining to apply the incentive(s).

#### Contract title:

Specification #:

1.	The total percentage of Diverse Management (as defined in MCC 2-92-407 and the applicable bid
solicita	tion) that Bidder commits to retain will be what percentage of the total Management?
	( ) 10% to 20% — 0.5% incentive
	() Greater than 20% to 40% — 2% incentive

() Greater than 40% — 4% incentive

(5), N.A. – not requesting diverse management incentive

2. The total percentage of Diverse Workforce (as defined in MCC 2-92-407 and the applicable bid solicitation) that Bidder commits to retain will be what percentage of the total Workforce?

() 10% to 20% — 2% incentive

( ) Greater than 20% to 40% — 4% incentive

 $(\!\!\!/\!\!\!/)$  Greater than 40% — 6% incentive

( ) N.A.-not requesting diverse workforce incentive

3. How many full-time, permanent employees are currently employed by Bidder? 48

4. How many of Bidder's full-time, permanent employees are considered Diverse as defined in MCC 2-92-407?

5. How many of Bidder's full-time, permanent employees are considered Management as defined in MCC 2-92-407?
6. How many of Bidder's full-time, permanent employees identified above as Management are considered Diverse as defined in MCC 2-92-407?
Note: You must attach the Detailed Diverse Management and Detailed Diverse Workforce Excel sheets provided in the Specification to this affidavit. If only one of the Excel sheets is applicable, please fill in "not applicable" on the nonapplicable sheet. (For example, if you are only committing a percentage to Diverse Management, please fill in the Detailed Diverse Management Excel sheet and write "not applicable" on the Detailed Diverse Workforce Excel sheet.)
Bidder understands that if it fails to retain the committed percentage of Diverse Management and/or Workforce, under MCC 2-92-407 it may be fined in an amount equal to three times the amount of the bid incentive allocated, unless the contractor can demonstrate that due to circumstances beyond its control, the contractor for good cause was unable to retain the percentage of Diverse Management and/or Workforce throughout the duration of the contract period.
Bidder understands that it may be required to produce records to the CPO to verify the diversity of its workforce or management as applicable.
Under penalty of perjury the person signing below: (1) warrants that they are authorized to execute this Affidavit on behalf of bidder, and (2) warrants that all certifications and statements contained in this Affidavit are true, accurate, and complete as of the date of execution.
Name of Bidder: BENCHMARIC CONSTRUCTION CO. IINC. (Print or Type)
Signature of Authorized Officer: (Signature)
Title of Signatory: MARIC ATKINS, UR-PRESIDENT (Print or Type)
State of ILLINOIS County of KANE
Signed and sworn (or affirmed) to before me on(date)
By MARIC ATUINS, JR (name/s of person/s making statement).
Molly L. Lraucecon (Signature of Notary Public) (Seal)  MOLLY K. FRANCESCONI OFFICIAL SEAL Notary Public, State of Illinois My Commission Expires February 24, 2027

 $\it Affidavits$ 

115